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BBk 2 T8, Ry v,

y = (60 + x) (300 — 10z) — 40(300 — 10x)
= (20 + x) (300 —10x) = 6000 + 100z — 10z*,
y = 100—20x,4 y = 0,8 x =5,
Wo<z<<5H,y >0,%x>50,y <0,
oM r =50t y BARCKME, I E XM R ER R R RE,

A1 65 JuAt, FlE R K.
HTENHENAESEEL 3z —4y—15=01,4y=0,8z=35,
TFRMMENAEERANG,0,.5 REREc=5,.50q"+6 =25, L

Ixz+y12 =25

B MR o) U by — 15"
Ty — 1=

N
X1 5
s )
L
N 5
M ETERE L,
—Dy 2y , ‘ S
-1 | )

H(1),(2) 18 o = 1,8° = 24 B o® = 49,6" = — 24(HFK),
Sal = 1,8 = 24,

Sa=1,BHMBHELE e = —ac— =5,

(I)Yn=18H S, =2 —ni8a, =S =—3,Yn= 25,

a, = Sn - Snvl
= (=2n" —n) = [=2(n = 1)* = (n = 1)]
= 1~—4n, '

con= 10, =— 3SWIHE LR ,#a, =1—4n =1D.

(D) BFEINa,) RETN o) =3, 28 Hd =— 4 EEHF] T aras a5, rass BRETA o) =—3, "EN

d =—8,HN 13 WERLEF, TR b EZEFI » BRARE

13X 12X (—8) _

a1+a3+a5+“'+azs=13><(—3)+ 2

— 663.
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